kA
SPIRCO

3861 OLD GETWELL RD. "
MEMPHIS, TN. 38118

(901) 365 6900
www.spircomfg.com

[IE

Tl

MINT STORAGE BUILDING
RECTION STANDARDS




TABLE OF CONTENTS

(ISSUE DATE 1/21/2004)

1.) EXTERIOR WALL GIRT ASSEMBLY

2.) BASE ASSEMBLY AT EXTERIOR WALL

3.) EXTERIOR WALL PANEL ASSEMBLY BETWEEN FRAMED OPENINGS
4.) EXTERIOR WALL PANEL ASSEMBLY AT FRAMED OPENINGS

5.) DOOR HEADER ASSEMBLY

6.) MULLION ASSEMBLY

7.) SIDEWALL FRAMING AT JAMBS

8.) EXTERIOR CORNER ASSEMBLY

9.) CORNER ASSEMBLY AT JAMBS

10.) FRAMING AT STEPS

11.) SHEETING AND TRIMMING AT STEPS

12.) SUPPORT CEE ASSEMBLY

13.) SIDEWALL FRAMING AT GUTTER

14.) ENDWALL FRAMING AT RAKE

15.) HIGH SIDE FRAMING, SHEETING, AND TRIM OF SINGLE SLOPE MINI

16.) INTERIOR PARTITION WALL ASSEMBLY RUNNING THE LENGTH OF THE MINI

17.) INTERIOR PARTITION WALL ASSEMBLY RUNNING THE WIDTH OF THE MINI

18.) A.  INTERIOR PARTITION WALLS INTERSECTING
B. KNEE BRACE ASSEMBLY

19.) ROOF / WALL FASTENER SPACING

20.) FASTENER SPACING

21.) ROOF PANELS AT THE RIDGE AND LAPS

22.) ROOF STRAPPING INSTALLATION

23.) LONGITUDINAL ROOF AND WALL X-STRAPPING

24.) PITCH MAKER / SPECIAL EAVE ANGLE INSTALLATION

25.) PITCH PLATE INSTALLATION



| COLUMN NOTE : USE (1) #12 x 3/4” SELF DRILLER IN
EACH LOCATION OF MINI CLIP AS SHOWN.
SPACE THE FASTENERS AS FAR APART
MINI CLIP o AS POSSILBLE.
X MINI CLIP
2x4 (16) 2x4 (16)

<l
<

|
orRT |l
|

MINI CLIP COLUMN MINI CLIP
OIRT /GRT

\ \
| |
| |
| |
o o |
N — il S
SECTION "X” <
MINI CLIP—
7|
GIRT =
NOTE : (4) SCREWS PER COLUMN—|
CLIP UNLESS NOTED N
OTHERWISE.
COLUMN\ BASE CHANNEL
N
COLUMN—|

WALL GIRT ASSEMBLY 1




COLUMN FASTEN BASE CHANNEL

TO COLUMN WITH (2) #12
x 3/4" SELF DRILLERS

ON EACH SIDE OF COLUMN.
WALL PANEL (3) ON EACH SIDE WHEN
A 8" PURLINS IS SETTING

NOTE : ANCHORS ARE DESIGNED BASED ON
A MINIMUM CONCRETE STRENGTH
(fc) 3000 psi.

4) WITH 47

&} ON THE COLUMN.

(
M2 x 3/4" &f PURLINS
SELF DRILLERS [(6) WITH 8]

PURLINS
BASE CHANNEL

M2 x 1 1/4

FINISHED FLOOR SELF DRILLERS

SRS

\

SEE SLAB PLAN

A
7T

1

1/277® v 2,‘/477L0M
WEDGE ANCHOR

ON' THE ERECTION DRAWINGS. SEE SLAB PLAN

2’—6" ON CENTER
(TYP.) UNLESS NOTED OTHERWISE

COLUMN
USE (2) #12 x 1 1/4” SELF \x
DRILLERS PER FOOT @ THE

BASE & EAVE FOR EXTERIOR
WALL PANEL ATTACHMENT
& (1) PER FOOT @ THE GIRTS

EXTERIOR WALL PANELS

\
®
BASE TRIM (WHEN
] KJ;No RECESS IS USED) N
@
ALTERNATE DETAIL o
©
COLUMN ol
(SIZES MAY VARY) ol |
CONCRETE SLAB\ o =
r~ >
A oL
ﬁ @,7

BASE CHANNEL FOR
COLUMNS TO REST IN

(SIZES MAY VARY)

WALL BASE WITH PANELS
(OUTSIDE WALLS ONLY)




REFER TO SLAB PLAN

— —

FOR DIMENSION

. MIN. 27 | = = SEE SLAB PLAN FOR SHEET NOTCH DIMENSION

COLUMN

ON'"EACH

A MULLION TRIM
N\ ] DO NOT FASTEN
THROUGH FACE.

(SEE PAGE (7) FOR
FASTENER LOCATIONS)

FINISHED

\
\
\
\
\ .
4) WITH 47 &
FLOOR \ FASTEN MINI DOOR CHANNEL Eé) PURLING :]
| TO COLUMN WITH #12 x 3/4” :
\ SELF DRILLERS ON EACH E6) WITH 8]
| SIDE OF COLUMN PURLINS
b ﬁ
| RECESS o '
DOOR JAMB
MINI DOOR CHANNEL \/
(GALVANIZED) COLUMN
1/2"¢ x 2—1/4"L WEDGE ANCHOR
(2) PER MINI DOOR CHANNEL
DOOR JAMB‘ﬁ\\‘
N
NOTE : GALVANIZED MINI DOOR
CHANNEL ARE STOCKED ["DCNDR JAMB
IN 1'-0" & 2'—0" LENGTHS COLUMN ' =
ALL OTHERS WILL BE
RED OXIDE PRIMER.

DOOR JAMB \
N

MULLION

/ TRIM

MINI DOOR
CHANNEL
(GALV.)

EXTERIOR WALL BASE WITH JAMB 3




INTERIOR PARTITION

PANEL
DOOR JAMB —\ COLUMN
<lfj)”
j /BASE CHANNEL

#12 X 3/4” SELF DRILLER
12" 0/C

ANGLE

TRIM F x OUTSIDE WALL PANEL

JAMB TRIM /

#12 X 1 1/47 SELF DRILLER
(2) PER FOOT @ BASE / EAVE
(1) PER FOOT @ GIRTS

1/20 x 2—1/4"L
WEDGE ANCHOR

2'—6” ON CENTER
(TYP) UNLESS NOTED)

PARTITION PANEL TO ATTACH @ STUD
(NOTE : FIELD NOTCH PANEL @ BOTTOM
WHERE PANEL MEETS BASE CHANNEL)

DOOR JAMB

— COLUMN

NOTE: THE 3" LEG OF THE DOOR JAMB
MUST BE ON THE INTERIOR OF
THE BUILDING.

ANGLE TRIM FITS AROUND
THE DOOR JAMB TO GIVE / 7LLE><TER\OR WALL
A CLEAN FINISHED LOOK

TRIM

Ll

NOTCH PARTITION
AS NEEDED

BASE CHANNEL

il
ANGLE TRIM PROFILE \
JAMB TRIM THAT THE EXTERIOR

PANEL WILL SLIDE INTO
AT THE FRAMED OPENING
TO GIVE A CLEAN FINISHED LOOK

JAMB TRIM PROFILE

OUTSIDE PANELS AT OPENING
(WHEN SHEETED WALL INTERSECTS WITH OPENING) 4




MINI CLIP

2x4x3 (16 Gm

USE (1) #12 x 3/4”
SELF DRILLER IN

EACH LOCATION OF
MINI CLIP AS SHOWN.
SPACE THE FASTENERS
AS FAR APART AS

WALL PANEL

FASTEN HEAD TRIM TO
DOOR HEADER WITH (2)
M2 x 11/4" SELF
DRILLERS PER FOOT

"‘éﬁ HEAD TRIM

POSSILBLE. b~
(4) UNLESS NOTED |~
~
0 |-
Zr =
=11
—0il:
—n|©
ozl
I% @
o <C
OZ
SE
O <
}7
D
FINISHED FLOOR T

1/2"¢ x 2-1/4"L WEDGE ANCHOR—
(2) PER MINI DOOR CHANNEL
(TYP) UNLESS NOTED ON ERECTION DRAWINGS.

DOOR JAMB
N

DOOR
HEADER

,—MINI CLIP

DOOR HEADER ASSEMBLY

DOOR HEADER

WALL PANELS

(ABOVE F/0'S)™ N\ A

HEAD TRMX

DOOR JAMB\
N

<L

NOTE: ATTACH HEAD TRIM TO THE
OUTSIDE FLANGE OF DOOR HEADER
AFTER ATTACHING CAP TRIM TO THE

HEADER.

— WALL PANEL

/7DOOR JAMB

MINI' DOOR
CHANNEL

,*@ |
\ ) ‘
FIELD DRILL WEEP ‘
HOLES AS NEEDED S }/
L :O —¢ \
DOOR HEADER T u
= ~ ‘
\__MINI CAP TRIM (3) #12 &l ;[L
x 1 1/4” SELF DRILLERS |—
PER PIECE T|o
o |5 MINI / L
16 DOOR JAMB 3|2 CAP TRIM HEAD TRIM
| (BEYOND) o<
(2]
—= OFFSET -
TO STEEL
‘ Fﬁmw DOOR CHANNEL
]
\
DOOR JAMBX
CEE COLUMN
\\
MINI CLIP

MINI' DOOR
CHANNEL




PARTITION PANEL —Tﬁ——
\x

MINI DOOR CHANNEL

”
I

COLUMN

MINI' DOOR CHANNEL

NOTE: THE 3" LEG OF THE DOOR JAMB MUST
BE ON THE INTERIOR OF THE BUILDING.

12 X 3/4” SELF
RILLER 12" 0/C

e

X_SLAB LINE

1/2"¢ x 2—1/4"L WEDGE ANCHOR
(2) PER MINI DOOR CHANNEL
—— UNLESS NOTED OTHERWISE —

MULLION WIDTH

4

SHEET RECESS —ﬂ I

SEE SHIPPER

METAL MULLION ASSEMBLY

MULLION TRIM

CONCRETE SLAB

M2 X 1 1/4” SELF
DRILLER 12” 0/C
EACH SIDE

<s—— MULLION TRIM

_/

DOOR JAMB

COLUMN

S\

PARTITION PANEL

DOOR JAME




- — 7{}@}7 - — — NOTE: FOR EXTERIOR WALLS WITHOUT FRAMED
OPENINGS EXCLUDE JAMBS

PARTITION PANELH>(
| EAVE CHANNEL

@mi FASTEN EAVE CHANNEL
| TO COLUMN WITH (2) #12
COLUMN = x 3/4” SELF DRILLERS

JJ\// ON EACH SIDE OF COLUMN

) FASTEN PERIMETER BASE CHANNEL
#12 x 3/4" SELF o gl TO COLUMN WITH (2) #12

DRILLER 127 O/C «x 3/4" SELF DRILLERS

| ON EACH SIDE OF COLUMN

®

9.

BASE CHANNEL

PARTITION PANEL\

EAVE CHANNEL

DOOR JAMB\ %

NOTE : (DETAIL APPLIES @ CEE COLUMN é
WITH OR WITHOUT JAMBS)

r DOOR JAMB
/

COLUMN

SIDEWALL FRAMING WITH JAMBS

BASE CHANNEL 7




SIDEWALL PANEL

M2 X 11/4
/ S. DRILLERS
1—0" 0.C.

M4 X 7/8" LAP TEK
COLUMN

ﬁ&— BASE CHANNEL

)

n
o

CORNER TRIM

CORNER TRIM ASSEMBLY

\ ENDWALL PANEL

L1/2"8 x 2—1/4"LONG
WEDGE ANCHOR
2'—6” ON CENTER

COLUMN

SIDEWALL
PANEL

CORNER TRIM

BASE CHANNELJ

WALL PANEL———=

M4 x 7/8" LAP TEK
FOR TRIM ATTACHMENT
2'—0" 0/C

— COLUMN

MINI DOOR CHANNEL
3"
DOOR JAMB

1/2” DIA. WEDGE
F | ANCHORS

M2 x 1 1/4” SELF
DRILLER 1’ 0/C

CORNER TRIM———=

! @u;ﬁmé#u x 1 1/4” SELF
DRILLER 2'-0” 0/C

—— ANGLE TRIM

CORNER WIDTH

M4 x 7/8"
~— LAP TEK

2-0” 0/C

(STANDARD IS (1'-0")

CORNER ASSEMBLY AT JAMBS

(LEFT HAND SHOWN /RIGHT HAND OPPOSITE)

NOTE: BOTH THE CORNER AND ANGLE TRIM RUN ALL THE WAY
DOWN TO THE SLAB. SHOWN CUT-BACK FOR CLARITY.

—BASE
CHANNEL

>

&ENDWALL

PANEL

COLUMN

WALL PANELJ

CORNER

ASSEMBLY

|

At

CORNER TRIM—J

B

ANGLE TRIM
PROFILE

DOOR JAMB

DOOR HEADER

/ANGLE TRIM

~——DOOR JAMB

MINI DOOR
CHANNEL




37
~— DOOR JAMB
=St

ANGLE TRIM

-

N

i

CORNER TRIM HEAD TRIM

SECTION "X”

EAVE CHANNEL

NOTE

REFER TO PAGE (8) FOR FASTENER SELECTION

AND FASTENER QUANTITIES

WALL
PANELS

WALL PANELS ABOVE
FRAMED OPENINGS

DOOR
HEADER

//7DOOR JAMB
/

DOOR JAMB‘ﬂ\
.
HEAD TRIM

™—COLUMN
HEAD TRIM

PROFILE

ANGLE TRIM
CORNER ASSEMBLY AT JAMBS




4

EAVE CHANNEL /

,,,,,,,,, I —

DOOR HEADER 44/////'

MINI' DOOR CHANNEL—ﬁ\\\\

Y

RAKE ANGLE

‘\\\¥*DOOR HEADER

k:::;\\\\fDOOR JAMB

— COLUMN STEP DOWN

EAVE CHANNEL

EAVE CHANNEL\\\\

COLUMN‘w\f

4

DOOR HEADER‘Q//
DOOR JAMB*ﬂ\\
\

(2) #12X3” STRAPPING SCREW @
TOP, BOTTOM, & MIDDLE OF COLUMN
(NOT TO EXCEED 5-0" 0/C U.N.)

MINI' DOOR
CHANNEL

STEP HEIGHT
(SEE SLAB PLAN)

MINI' DOOR
CHANNEL

/

X

A7,

(@)

OaZa

2 x 4 (16)
RAKE ANGLE

EAVE CHANNEL

PURLIN

.
\\
Y

2 x 4 (16)
RAKE ANGLE

COLUMN

Y

COLUMN

BASE CHANNEL

=—DOOR JAMB

\% %Q/Q\/

PURLIN

S

BASE CHANNEL

STEP HEIGHT

STEPDOWN DETAIL

FRAMING

10




DETAIL @ STEPS 1'—4" OR UNDER

RAKE ANGLE RAKE TRIM

ROOF FRAMING

LEAN=TO TRIM

SEE PAGE (12) FOR
FASTENER SPACING

MULLION TRIM LEG — |

|
|
|
|
|
JAMB TRIM / |
|
|

1
FIELD CUT MULLION AT TK

|
|
EACH DROP IN —

T DOOR JAMB

Nl

CONCRETE FOR PROPER —————=
AT, =& MIN| DOOR CHANNEL

ROOF PANELS
PURLIN

RAKE TRIM

%
&

NOTE : GUTTER ENDCAPS AND CORNER BOXES
WILL BE SENT TO BE USED AT THE
STEP DOWN. NOT SHOWN ON DRAWING

FOR CLARITY.

RAKE ANGLE

GUTTER LEAN=TO-TRIM

4 ROOF PANELS
7

WALL PANELS

ABOVE F/0'S
/O'S—_|

[~

HEAD TRIM

N

PURLIN
RAKE TR\M/
JAMB TRIM———— STEP
MULLION TRIM
FIELD CUT TO

MATCH STEP [V

BASE CHANNEL

DOOR HEADER

STEP HEIGHT
SEE SLAB PLAN

O
W
c)V
STEPDOWN DETAIL o

xR
SHEETING AND TRIM @ 11




NOTE : ALL FASTENERS SHOWN ON THIS
PAGE ARE #12 x 3/4" S. DRILLERS

NOTE : THE MINI CLIP IS TO ATTACH DIRECTLY
TO THE INSIDE OF THE DOOR JAMB
THIS IS PROVIDED FOR ATTACHMENT
OF THE SUPPORT CEE AND JAMB

(4) #12 x 3/47

S. DRILLER
(4) IN 47 & 6

”

PURLINS (6) IN 8”

PURLINS

STEEL LINE——=

STUBAJ///

|

lo
llo

Z*ﬁLPURLN

4—}——4

4 g

1

(4) #12 x 3/4”

/S. DRILLER
~—SUPPORT CEE

o [
~

o o

A~

[

L//f*MHw CLIP

12 x 3/47 S,
¥ DRILLER

——DOOR JAMB

SECTION "B—B”

PURLIN

WN\CUP‘J/

(8) SCREWS

COLUMN
4\\

SEE ROOF PLAN

SEE ROOF PLAN ‘ SEE ROOF PLAN

STUB

ROOF PANEL

N
1]

WN\CUPS‘4<

(BOTH SIDES)

DOOR JAMB —

COLUMN —~_ |

PURLIN

(4) SCREWS
STUB

COLUMN\
N\

SUPPORT CEE

MINI CLIP
(8) SCREWS

\
\DOOR JAMB

A =—
| / e
I~ | DOOR HEADER
|
I

DETAIL

(4) SCREWS

|
|
DOOR JAMB\‘
)

CEE COLUMN

/ |

(4) SCREWS
IN"EACH

SIDE OF CLIP
(8) TOTAL |

DOOR HEADER

]

SECTION "A—A"

ey

/COLUMN
/

DETAIL "A”

|
\\fmww CLIP

(8) SCREWS

—MINI
CLIP (4)
SCREWS

~

|, — COLUMN

24

2 DOOR JAMB

DOOR HEADER

SUPPORT CEE DETAIL

12




NOTE : #2 EAVE ANCLE MAY OR MAY NOT BE THE INSIDE CLOSURE
SAME COLOR AS THE OTHER TRIM . (USE 1" MASTIC TAPE ON TOP

OF AND BELOW INSIDE CLOSURE)

#12 x 1.1/4" SELF GUTTER STRAPS 3 0" 0/C
DRILLER 6" 0/C

ROOF PANEL

GUTTER (OPTIONAL)

FASTEN EAVE CHANNEL H%BJ
TO COLUMN WITH (2) #12 =
x 3/4” SELF DRILLERS
ON EACH SIDE OF COLUMN ‘

#4 X 7/8" LAP TEK
(127 0/C AT FLATS)

EAVE ANGLE (WITH GUTTER)

EAVE CHANNEL | Hl FAVE TRIM (NO GUTTER)

#12 X 1 1/4” SELF DRILLER
‘ ‘ (2) PER FOOT

——— WALL PANEL

COLUMN

NOTE : REPLACE EAVE ANGLE WITH EAVE
TRIM IF THERE IS NO GUTTER.

OVERFLOW WINDOW
FIELD NOTCH
@ 10'-0" O.C.

ROOF PANELS

INSIDE CLOSURE GUTTER STRAP

EAVE ANGLE

GUTTER

EAVE CHANNEL

DETAIL "Z"

COLUMN

SIDEWALL PANELS

SIDEWALL FRAMING
@ GUTTER

COLUMN

13




4 X 7/8° LAP TEK
2'—6” 0/C WITH 17 MASTIC

%/ROOF PANEL

RAKE ANGLE

_— RAKE TRIM

o VA

#14 X 7/8 TEK

PURLIN

(4) #12 X 3/47 SELF DRILLERS
(UNLESS NOTED OTHERWISE

ON ERECTION DRAWINGS)

(4) WITH 47 & Y,
6” PURLINS COLUMN

AT HIGH RIBS
2/////47(2) PER FOOT
\\\OUTSDE CLOSURE

L

\\\¥WALL PANEL

(6) WITH 8"
PURLINS

%

|

ROOF PANELS

PURLIN

2 x 4 RAKE
¥ T

OUTSIDE g
CLOSUREJ////

PURLIN

RAKE TRIM

ENDWALL PANELS

ENDWALL FRAMING

@ RAKE




#14 X 7/8" LAP TEK
2’—6" 0/C WITH 17 MASTIC

ROOF PANEL

EAVE CHANNEL

HIGH SIDE
< RAKE TRIM

OUTSIDE CLOSURE

COLUMN /

a4 x 7/8 TEK
s AT HIGH RIBS
} ._..}‘..‘,, (2) PER FOOT
\OUTS\DE CLOSURE

A
\WALL PANEL

,‘)7

MASTIC TAPE
BOTH SIDES

OUTSIDE CLOSURE /
EAVE CHANNEL

SIDEWALL PANEL/

HIGH SIDE
RAKE TRIM

HIGH SIDE CONDITION OF
SINGLE SLOPE BUILDING S




ROOF PANEL

#12 x 1 1/4” SELF
DRILLER 12" 0/C

ALTERNATE
AN ADDITIONAL COLUMN
MAY BE USED PER
DESIGN. SEE YOUR

FRECTION DRAWINGS 2 x 4 (16)

SUPPORT ANGLE

FINISHED FLOOR

FASTEN SUPPORT ANGLE
TO PURLIN WITH (2) #12
x 3/4” SELF DRILLERS
(4) IF IS A COLUMN

#2 x 3/47 SELF
DRILLER 12" 0/C

PARTITION PANEL

2 x 4 (16) BASE ANGLE

PURLIN

AW

D\

W

AN

BASE
CHANNEL

AN

COLUMW

1/4” NAIL ANCHORS

2'—6” 0.C. IF A

COLUMN USE A MINI

BASE CLIP WITH (1)

1/2” x 2—1/4” WEDGE
ANCHOR.

PARTITION PANEL

(RUNNING THE WIDTH

OF THE BUILDING)

NOTE : 2 X 4 (16) SUPPORT ANGLE IS
ONLY FURNISHED TO SUPPORT
PARTITION PANELS OVER 5-07
IN LENGTH.

ALTERNATE
AN ADDITIONAL COLUMN
MAY BE USED PER

DESIGN. SEE YOUR
ERECTION DRAWINGS

>

PARTITION PANEL
(RUNNING THE LENGTH
OF THE BUILDING)

2 x 4 SUPPORT
ANGLE

INTERIOR WALL ASSEMBLY

2 x 4 BASE
ANGLE

16




FIELD CUT
PARTITION PANEL
AS NEEDED

NOTE

M4 x 7/8" LAP SCREW
2'-6" 0/C AT END LAPS

1/2"°¢ x

2—1/4”"LONG
WEDGE ANCHORS ARE
2 =6 ON CENTER UNLESS
NOTED OTHERWISE ON THE
ERECTION DRAWINGS.

#2 x 11/4" SELF DRILLER

/ 12" 0/C TO PURLIN

ROOF PURLIN—=5

M2 x 3/4" SELF DRILLER
AS SHOWN FOR PURLIN LAP

PARTITION PANEL —=

.3
—t — — —

COLUMN

—

M2 x 3/4 SELF
DRILLER 12" 0/C

ATTACH COLUMN WITH
(2) #12 X 3/4"
SELF DRILLERS C

EACH SIDE /
BASE CHANNEL
‘

6" PURLINS

L

EZL) WITH 47

6) WITH 8
PURLINS

(A

FASTEN COLUMN TO PURLIN WITH
———#12 x 3/4" SELF DRILLER. REFER
TO ERECTION DRAWINGS FOR QTY'S.

EZL) WITH 47 éﬂ

6” PURLINS
(6) WITH 8”
PURLINS

1/2"8 x 2—1/4"LONG
WEDGE ANCHOR
2'—6” ON CENTER

\ PURLIN

AS NEEDED)

A\

N\

CEE COLUMN

D\

INTERIOR WALL ASSEMBLY

—PARTITION PANEL
(NOTCH @ PURLIN

BASE CHANNEL




NOTE: SUPPORT ANGLE FASTENS TO
HIGH RIB OF PARTITION PANELS
FOR SUPPORT ONLY. FASTEN
THROUGH LOW RIBS OF PARTITION
PANELS WHERE POSSIBLE.

M2 X 3/4” SELF \
DRILLER 12" 0/C
(TYPICAL WHERE

SHOWN) |

PARTITION PANEL
- 4%‘ e —
L B

coLumn—/ || SUPPORT ANGLE 2 X 4 (16)

INTERIOR PARTITION INTERSECTION

NOTE : FIELD NOTCH ONE LEG OF THE KNEE BRACE
WHERE IT MEETS THE PURLIN .

FIELD CUT
(AS NEEDED)

) 2 x 4 ANGLE
#12 x 3/4 (KNEE BRACE)
(AS SHOWN)
; | PURLIN
) S Gat— E— Pu—
I
I
I
2’=0" N
TYP. | N2 x 4 (16)

ANGLE TYP.

2 x 4 (16) ANGLE

\
\
\
\
A (KNEE BRACE)
‘ ”
o | ‘\\\¥COLUMN (2) #12 x 3/4" EACH
- \
e |
\

END

%X@> 2 x 4 (16) ANGLE

Use where shown on Erection Drawings.

KNEE BRACE DETAIL \COLUMN

18




NOTE: IF A ULS0 RATED ROOF IS REQUIRED, THESE FASTENERS SPACINGS MUST BE FUOLLUOWED,
(SPECIAL MATERIALS ARE REQUIRED FOR SKYLIGHTS WITH ULS0 RATED RUOOFD

36//

7 ” 5 ” 7 " 5 ” 7 ”
c 1/¢e o 1 07

PURLIN BEARING LEG ALWAYS ON BOTTOM
FASTENER SPACING AT RAKE, EAVE, AND BASE

36//

8 1/8// 18 18// 9 1/8// | 8 1/8//

PURLIN BEARING LEG ALWAYS ON BOTTOM
INTERMEDIATE FASTENER SPACING

36//

7// 5// 7// 57 7,/
e /e’ e /e’

PURLIN BEARING LEG ALWAYS ON BOTTOM

FASTENER SPACING AT ENDLAP

36//

8 1/8// 18 18// 9 1/8// | 8 1/8//

PURLIN BEARING LEG ALWAYS ON BOTTOM

INTERMEDIATE FASTENER SPACING

STITCH FASTENER #14

SCREW TO BE PLACED iijggRE©§TENER

OVER EACH PURLIN 10 BE PLACED NOTE: IF & UL90 RATED ROOF IS
(ﬁAND EAVE STRUT AND zi\iiiiyeﬂ 0c REQUIRED, PLACE STITCH

2'—6” CENTERS, FASTENER #14 x 7/8” SCREW

BETWEEN, T OVER EACH PURLIN AND EAVE
i J7<?§\: STRUT AND 1'-8” CENTERS

BETWEEN
1” MASTIC TAPE SIDELAP DETAIL

(ROOF ONLYD

ROOF PANEL FASTENER SPACING 197




#14 x /7/87 LAP TEK

#le x 1 1/47 S DRILLER AT 2/—6" CENTERS BETWEEN

AT PURLINS AND GIRTS
\
|
|
\

E E E
| | |
| | |
| | |

PATTERN #1

#14 x 7/87 LAP TEK
#12 x 1 1/4” S, DRILLER AT 2/-6” CENTERS BETWEEN

AT EAVE, PEAK, AND LAPS ON ROOF
ALSO AT BASE, EAVE, AND GABLE ON WALLS,
|
|
|
|

[ oo E
| | |
| | |
| | |

PATTERN #2

#14 x 7/87 LAP TEK

TRIM

PATTERN #3

FASTENER PATTERNS

0




ROOF PANELS @ RIDGE & [ APS

ROOF PANELS OF 40'-0” AND OVER
ARE SENT IN (2> LENGTHS AND ARE

17 MASTIC TAPE
LAPPED 0'-6" AT 135'-0"

11/=0”

USED AT BOTH
LAPS

T‘4744»4*,4,44,4*,4744»4~14715/*10”

40'=0"

15'-10"

"PBR” ROOF
PANELS

COLUMN

ROOF PANELS OVER 35-9” LONG OR BUILDINGS WITH A SLOPE GREATER THAN A 1/2:12 WILL REQUIRE A SPLICE.

¢
"PBR” 1 #l2 x 1 1747
ROOF PANEL ‘ S, QRILLER
BENT OVER ! " 0/0>
RIDGE

— = 6” PURLINS

&) WITH 8"
mK PURLINS
\

4> #12 x 3/4" SELF DRILERS
UNLESS NOTED OTHERWISE
ON ERECTION DRAWINGS

PURLIN—

|
/i
COLUMN [—— /BASE CHANNEL

o ’
-y -

/

I I

ROOF PANEL LAYOUT AT PEAK
FOR BUILDINGS 35'-0" OR LESS

— 4> WITH 4”7 &

<SAME AT COLUMN
TO BASE CHANNEL

1" MASTIC TAPE

#12 x 1-1/4" SCREW
f\\ 6”\\% 2 PER FOOT

\ #14 SCREW

L
\PURUN ROOF PANEL
#12 SCREW
o

ROOF PANEL @ ENDLAPS

PURLIN

" MASTIC

ROOF PANEL
(TYPICALD

cl




NOTE: ALL STRAPPING MUST BE PULLED TIGHT WITH NO SAGS.

/EAVE CHANNEL ;PURLN /277 STRAPPING

LATTERAL ROOF STRAPPING — STANDING SEAM ROOF
ATTACH WITH (2) #12 x 3/4" SCREWS AT EACH PURLIN & EAVE CHANNEL

LATTERAL
STRAPPING

. . .
ca T ] Ty ¢
cs | c2 | e c2

2 X 4 (18) ANGLE
o
~
O
2N
O
i
O
N

[ C1 | C1 | C1
T T

ROOF FRAMING AS YOU
WILL SEE ON YOUR SET
OF ERECTION DRAWINGS.

NOTE: ALL STRAPPING MUST BE PULLED TIGHT WITH NO SAGS.

FAVE CHANNEL PURLIN
/ @ /2” STRAPPING

LATTERALROOF STRAPPING — SCREW DOWN ROOF
ATTACH WITH (2) #12 x 3/47 SCREWS AT EACH PURLIN

LATTERAL
STRAPPING
a o [ Ve
cs c2 c2 \/ c2
lcs | c3 | (o] | c3
% o7 | c4 ‘ C4 | o
s T
T1lce c3 c3 c3
° cs | c2 | c2 | c2
T
c1 1 C1 1 9] 1 a1

ROOF FRAMING AS YOU
WILL SEE ON YOUR SET
OF ERECTION DRAWINGS.

27




LONGITUDINAL WALL "X” STRAPPING

LONGITUDINAL WALL X—STRAPPING MUST ATTACH COLUMN TO COLUMN WITH (4)
SCREWS. (1) SCREW AT ANY INTERMEDIATE GIRTS. PLACE BEHIND WALL PANELS.

WALL ELEVATION

(4) #12 X 3/4
SELF DRILLERS
(TYPICAL WHERE
SHOWN)

ON INTERIOR PARTITION
INTERSECTION SLIT PANEL
TO ATTACH TO COLUMN
AS NECESSARY.

“X" STRAPPING

COLUMN

LATTERAL PARTITION NOT
SHOWN FOR CLARITY ON
THIS SIDE.

\ PARTITION PANEL

LONGITUDINAL ROQF "X” STRAPPING

LONGITUDINAL ROOF X—STRAPPING MUST USE (4) SCREWS AT ENDS AND (1) AT EACH INTERMIDIATE PURLIN.

/ EAVE CHANNEL

—

PURLIN

2 X 4 (16) ANGLE

vy o>=a g

2" STRAPPING

1

(4) SCREWS THIS
END (TYPICAL)

PURLINS (TYPICAL)

LATTERAL X"
STRAPPING IN ROOF

T & cf (3]

cs /Qz c2 c2

VRN

6 3 [oK 3

N/ N/

c7 W CA G . ca

g v e —— (1) SCREW AT INTERMIDIATE

NS N/

cs x o2 2 x 2

VAN VRN

1 S C1, C1

(4) SCREWS THIS
END (TYPICAL)

ROOF FRAMING AS YOU
WILL SEE ON YOUR SET
OF ERECTION DRAWINGS.

25




NOTE : FOR BUILDINGS WITH A 2:12 PITCH OR GREATER. THE PITCH MAKER WILL SET DIRECTLY ON TOP OF
THE CEE COLUMN. THE PURLIN WILL THEN SET ON THE PITCH MAKER AT THE SAME PITCH AS ROOF.

PITCH MAKER
PITCH MAKER
(PMX)
PITCH MAKER
PURLIN=
cu
M2 S—
DRILLERS
E%> WITH 4”%ﬂ (4) #2°S
6” PURLINS Do L ERe
COLUMN COLUMN (6) WITH 8]
j\\\? j\\\? [EURUNS
(4)—#12 S
DRILLERS COLUMN
PITCHMAKER ATTACHMENT

NOTE : FOR BUILDINGS WITH A 2:12 PITCH OR GREATER. THE SPECIAL EAVE ANGLE WILL BE BENT @ THE
SAME PITCH AS THE ROOF ATTACHING DIRECTLY TO THE SIDE (FLANGE) OF THE EAVE CHANNEL.

EAVE CHANNEL

SPECIAL EAVE
ANGLE

EAVE CHANNEL

(2) #12 S.
DRILLERS "
NEW EAVE
CHANNEL
-
i~ a ~
N COLUMN

SPEC

AL EAVE ANGLE 24




1”7 MASTIC (BOTH SIDES)

ERECTION SEQUENCE

STEP 1 @ PURLIN SETS ON TOP OF CEE COLUMN
STEP 2 : PITCH PLATE SETS ON TOP OF PURLIN
STEP 3 : ROOF PANELS ATTACH TO PITCH PLATE
STEP 4 : RIDGE CAP ATTACHES TO ROOF PANELS

////#M>x 3/4” 8” O.C.

(1) #12 x 1-1/4"
S. DRILLER
PER FOOT

RIDGE CAP

|
I
PITCH PLATE | (4) #12 x 3/47
| SELF DRILLERS
|
L
| , EA) WITH 4”aﬂ
| 6" PURLINS
| [?D WITH ?j
| PURLIN PURLINS
COLUMN |
\ |
|
\8 |

COLUMN\
N

PITCH PLATE DETAIL

NOTE : THE PITCH PLATE IS USED WITH ROOF PITCHES GREATER THAN 1/2:12 WHEN
PANELS CAN NOT BE SENT IN FULL LENGTHS TO BE BENT OVER THE RIDGE.

RIDGE CAP

— ROOF PANELS

PITCH PLATE
\\ PURLIN

S
&4 4

O

~&y, %

COLUMN\\\ \\\\Q

ROOF PANELS

25




	MiniErectionManual.pdf
	Contents
	Page 01
	Page 02
	Page 03
	Page 04
	Page 05
	Page 06
	Page 07
	Page 08
	Page 09
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25


